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1.:.::.

4
'1rl

"'$llltsli::

::""''' t'iir

.:::'

::::::,l:ltll

Fig.Q1(b)*+="''
d ::::::::::, "

,,,r*, .,,,,'

rl,,ur.. 
.,,,::

Determine e@ivalent
Fig.Q2(b).
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Define supelposition
shown in Fig:Q3(a).

Module-2
theorem and find 'va' using
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,,',','.1ti,1, 21EE33
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the,,prjnelhle of superposition theorem
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,ir, (10 Marks)
...
bl D--efi,re reciprocity theorem und f,rd1iv",i,il it i circuit shown in F!g.Q3(b) and hence verify

-;-aiaranifrl thenrern '"'::::*1,. 
li4:' ,, .":;t 
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a;\[.ig.Q3(a)

riciprocity theorem.

i,i . ,l,,,:.i!e.,,=ll Fie.Q3(b) (10 Marks)
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4 a. State and explain maximum power transfer theorem when load impedance is equal^to_pure

i variable&siitance. ,,::,ri-r:,:., .,, .,',",.i'i'u)t ..,,,,..,il 
l' (10 Marks)

b,, Find the,,current throughli6C)' resistor rq, cirClii shown in Fig.Qa(b) using Norton's

theorern
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r,,rr. .5. ,,4**rn"fft srvitch k is changid from position 1 to'position 2 at t : 0 steady state condition haveji ' 'I ,i, . 
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urdthevaluesof i, **o* at t=0*.(ReferFig.es(a)),.l , beih reached at position I fi
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', , ,, :. ,,h- ,, Slio'w thaj"fof,z series RLC resonant circuit, ihe selectivity Qo = #F where fo -+ resonant

.r: Lz-Ll

't-' 1,,, '; '', ,, , fte{uqffiand fr, f2 are half power frequency' (loMarks)
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State and prove initiqllnnd final value theorem"i'ip.Laplace transformation

Using initial udfinut value theor"or, *he*affii apply, find (0) and (c

-"'.li..I' 
s(s3 + 3s2 + 4s * 2),,,;*,. 
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8 a. Obtain the Laplace transfer of the filnctiol shown in;Fi488(a). :.i;i'': 
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(10 Nlarks)

s-+/x-+) .

function 
',f6s)i 
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. " x:' .. (10 Marks)

Using initial3-nd_Ernut value theorenr, whgreffi apply, find (0) and (oo) for the following
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s3 + 7x2 + 5 . ta ^rr^ -r--\
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Fie.Q8(a) lli Y"t'l
b. Derive the.,,,[:iation between unit &eg and unit ramp fi!-]libn' I ' ': , (10 Marks)
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_',,t' ;, ,-i ... . -
o A 36, 4 wire syste-;15,0-Y; CBA sequq,qcE:#as Y-connected lOad:, with j 

: 
Z; ="69,

o.

Zs = 6130" and Zc= 5 145" e. Obtain all line current and draw a phasor diagram. (10 Mar{rs)

ff...."..h.iodyparametero4't#6portnetworksshbwninFig.Q9(b)'.'..
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10 a. Express 'y' pura#teier intelm of 'Z'parameter'
b. Determine the 

'iine 
current and total ppwer supplied

Z"u = tgliOp {1, Za": 20Q190", Z"u= 25p9:o. Assume a 3-phasel 400% ABC system.
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